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Q5. |If [ 9 _11 g] =A+ [(1) i _91], then find the matrix A.
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Answer: [_92 _11 §]=A+[(1) i _91]
ora=[5 7 3=l 3

orA=_9_1 -1-2 4+1]

-2—-0 1-4 3-9

_[8 =3 5
orA= > _3 —6]
Q6 Write the degree of the differential equation x3 (dz—y)z + (d—y)4 =0
. g q dx? dx
2 4
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Answer: x (dxz) + (dx) =0

We know that the degree of a differential equation = highest power (exponent) of the highest order derivative

. R d?
Here highest order derivative = d—x}; :
d’y .
Power of == is 2.
dx?

Hence the degree of the given differential equation is 2.

Q7. Ifd = xi + 2j — zk and b=3i- yj + k are two equal vectors, then write the value of x + y + z.

Answer: Given, d = xi+ 2j—zkand b=3i- yj + k are equal vectors.

~xi+2)—zk=31—-yj+k
Equalising the co-efficient of x, y and z from both sides we get
orx=3,y=-2,z=-1

“x+y+z=3+(-2)+(-1)=0
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